[image: C:\Users\1\Desktop\1.jpg]
[image: C:\Users\1\Desktop\2.jpg]
[image: C:\Users\1\Desktop\34.jpg]
[image: C:\Users\1\Desktop\5.jpg]
image1.jpeg
W Gutttcettisecrgn Ho prisike s
L Z /4

7
%}W / LAt 2
%/ e ?4 7/ M/WMZ [Ptcar

A~6k0u =4 100y k= U 1)
Zé = Jofh L) foeece /&MMW&J s, AL

o 1B 10407

oy 7/ﬂw/ 10-45H hreR) =t (2)

/gw«" y Y ] L
Y U . L

I //1:V_+ﬁ

G P R
Z{]}": Z/,//.; Z/,/Q

Iﬁ(l/z'z/ﬂ:y-//q
y- Z//_[f
U= U,
P N0’ | 5 o
10—%
Thov: M.

4, Y -
p’l"l_'k—"]m

Uy X U,

= e T’
A7 . Z/l s Z//l'l"
S o U e == 100

A
Vo = 0ol g e
24 = 99904

10-46%-4.00>~4

Ok, 799 Oer.





image2.jpeg
=

Uy . 1
8 \/rn
7) /w/ 4 W{ccca/ /dfm 5

Ay =My

7L /-é = AL *7///
Z%W

//¢7_2)
%)/z)> 7= f;g gz . plEr-1)

i — /f/;o/

m= 2L

7) (1), 12) »>/v \%gmﬁg _,,’/,
/’/thzo
mé/’iz





image3.jpeg
)
///'/// SOl
/) he JcZ7

2yt

/[/,/7>,,7 (1) v~ d?/// ‘ ( ropoct /w /’/‘%/” catcedt)
J 4 o 2C%

0) ' =M

sy
ik 2)
5) e i‘j % (v /) IH /////)
o 562
i =
L A
e o - _ﬁ_i W
/y /57 4;, v
Ormbem. 7,

S y

/:pa—_’;% é/ﬁzwo/
st V= coDIG= 253k -




image4.jpeg
j’fm 4 d -

S= e -,
%Vg&r_ D




